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M AMHES
el A"y =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=sRML DXAN 252 ¥SF M
750,000 750
OAEBWARET S|
3,456,000 3,456
Oszg 99xx 22|
2,304,000 2,304
OSENLAIY U FoISAAASTY|
1,728,000 1,728
OsgIEESAY 28 S|
2,304,000 2,304
ONUHl =8 S|
4,320,000 4,320
202 04l 10,320 10,320
01 =LHA LI 10,320 10,320
OALHE Il =& 0|
20,0003 4 H+33|* 123 2,880
Os&ge paxl =8 oyl
20,0002 «3H*33|* 12 2,160
OsZHege eaExel =& ol
20,0003 x2EH +32|«12& 1,440
SgIIgAlE 2@ X el =& O
20,0003 =2H +33|x 123 1,440
O2B/LX 2L L BY ZF(BLE)
20,0002 x1&*103|x 122 2,400
203 gF=4| 1,000 1,000
03 A=A =T 1,000 1,000
OAMHHEN Y 23
100,000& * 102 1,000
0IXS X 2a(HIHEEZ HAEX S) 151,000 250,000 99,000
401 A& HIX R0 151,000 250,000 A99,000
01 AlZH| 150,000 248,200 /98,200
ODIXNZEA & BH(HIHEEZ HUEX
s) 150,000,000 150,000
03 Al 20HHI 1,000 1,800 A800
OAIZ20HHI 1,000,000 1,000
sE=E85d 8,563,724 4,997,724 3,566,000
[ 6,777,000
= 245,000
Al 1,541,724
SESAX 23 4,938,724 1,817,724 3,121,000
= 4,445,000
Al 493,724
LS SESHA 293 4,445,000 1,774,000 2,671,000
[ 4,445,000
201 er23 | 54,200 53,120 1,080
s 54,200
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By sEseEx
el SESHN 243 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 52,160 51,080 1,080
OINEHE S 24
100,000%521 %43 2,000
= 2,000
OFeIPIAs FH4Y
100,000%15Q1 %123 18,000
= 18,000
OMNRE gs+E 1,920,000+ 12& 23,040
s 23,040
O=CIIA3 M2 9,120
—AIR4 SX= 480,000% 123 5,760
s 5,760
—2g8 A28 7Y 150,000% 122 1,800
= 1,800
—=gJ EH 7Y 220,000+32 660
[ 660
—&==J] 22l 25,000+ 128 300
[ 300
— A2 =4 50,000« 12& 600
= 600
2 35244l 2,040 2,040 0
O=2AAZ] AIRA 2,040
—HIIe3 100,000+ 12& 1,200
= 1,200
—SARS(UHW, A5 70,000% 122 840
= 840
301 2eEN= 1,980 1,980 0
= 1,980
11 #AIAMHIXI 2 S 1,980 1,980 0
O=2IAJ3 32 Hb|
11,000%15Q1% 123 1,980
[ 1,980
401 AIEHIX R0 4,388,820 1,718,900 2,669,920
[ 4,388,820
01 Al&H| 4,369,820 1,712,734 2,657,086
OZeds sESHA 243tAe
4,369,820,000& 4,369,820
= 4,369,820
03 Al 20HHI 19,000 6,166 12,834
OZes sESaA 243Ae
19,000,000 19,000
= 19,000
EHsESHXE A 350,000 0 360,000
401 Al HIZL 01| 360,000 0 360,000




od
i’
oF
uJ

a1
=
&
70
)
Ko =
ar <0
7 Kio
0 K] K
< Ho Ho
xR

IF RO

=

S S|3a|e S
2 |3 glele |
Klo
E
B
e %mm 818 S8 N 8183 3 elele S
N~ N S|e oS e S|o|— @© S
5 = |- ClE] o o)~ ~ S
LH3r =
ifd «
KIS
S8 813818 S|18|8 8138 S I JI38I8I8 & 8L %%mmw% mmmmmw 88 8 8 8
S SIN|F|T TJF|S|e o|9|g S » »|3|S|m & © © © 3 2 S « S|l S|S S S S
— — | — — AN N M~ A (eI aN| 0 Al W
5 8|5 8|8 8 oo slglg glgdese
ar oo
<
S
W<
| ol o G| ] oW oo oW o I Y R VA o
5 g 5 5 5 SHR 5 2985 $3F 5
A o 3 A A x X x 7 O N 4
Al < o = or of of
o | & 3 g ‘ 285 5 BEE: t£5¢% g
) = 58 = = dw § =285 gSgg =
) S ~ 8 8 8 ses® BRBE =
. ol & oJ - - N
o e _ g o~
3D - a0 Y D D 3
< -~ <+ mm B =
I+ = 7 5 80 — 70
= 110} 0 70 . o_u_ P on.
B3 0 K n al iy 3D
- ol = = < = | El B = 70
= = |9l o & r | @ o &0 X0 = |a
e 0= ol ol = | = noa ) O I I =
= Ko | O 5 n= |2 o 7 | oD R oA RO|D % (K
oF I L L I [ [ (e = m R SELOM R
o Blnlnlz e |wlsa |#% @ I alElnz T2 mwmo MR goyjmxl T
R nr|s0 | ol Kl|D o o ol O o |=1|8]|m - &) - =) | O =
= |D & O L TN B, N = = I Z|g|owlm AN AN g dAHUHASR goﬁﬂimw.ﬁ =]
Ki T ok 3y |oF O o= o | O w |z |20|or O - RO RO M~ < < A0 D B B TR ) i
R 1= = |mlanj= M |au|m A0 =)= A = M|[Z|an|= 4 " ® 0 [ BW 0o ®w|N|lz o |
- 120 |wlzl=° |50 |2]2 0 gOli|z]=2 0000 gO0O0OO0O0 OO0lalz|lz O |a
X of | ® 5 7l |« 51| = =
I+ Kk Gl ) 8
K~




FA AL
By sEsezx
Sl FHAXSA M02A WAL (CH9: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
FOUXIS ME2H ALY (OHAOHS) 708,000 708,000 0
= 472,000
== 49,000
Al 187,000
401 Al HIZL S 0HYI 708,000 708,000 0
= 472,000
=S 49,000
Al 187,000
01 AIZHI 704,000 704,000 0
OFIOHXI MEH0I21 HZAR (OFADLE)
704,000,000 704,000
= 469,328
= 48,729
Al 185,943
03 A& S CHYI 4,000 4,000 0
OF AN MBI AL (OHAIOLS)
4,000,000 4,000
s 2,672
S 27
Al 1,057
FHOXY M0 A (HRA0I2) 763,000 764,000 A1,000
= 476,000
=S 48,000
Al 239,000
401 AIEHIZ SR THYI 763,000 764,000 A1,000
[ 476,000
= 48,000
Al 239,000
01 AlZHI 759,500 760,000 A500
OF AR M H HEAIS (FAOS)
759,500,000 759,500
[ 473,508
= 47,749
Al 238,243
03 AlZ = THHI 3,500 4,000 A500
OF AR MBI ALY (HA0IS)
3,500,000& 3,500
= 2,492
s 251
Al 757
FHOXSY ME0H A (HHOIS) 589,000 671,000 /82,000
= 431,000
= 47,000
Al 111,000




SA AL
By sEsezx
Gl FHUXD MEHA HEAY (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 589,000 671,000 A82,000
= 431,000
== 47,000
Al 111,000
01 Al&HI 584,880 667,000 282,120
OFOX S B0 HENL (ZTOLS)
584,880,000 584,880
= 427,900
== 46,694
Al 110,286
03 Al 20HHI 4,120 4,000 120
OFOXS MBI HEN (ZIOLS)
4,120,000& 4,120
= 3,100
& 306
Al 714
FOUXS MENH HTAIS (RS0HS) 924,000 646,000 278,000
= 474,000
< 52,000
Al 398,000
401 Al HIZL S 0HYI 924,000 646,000 278,000
= 474,000
=S 52,000
Al 398,000
01 AlZ8| 920,000 642,000 278,000
OFIOHXI ME0I2 HEAR (HE0IS)
920,000,000 920,000
= 471,065
=S 51,678
Al 397,257
03 Al 20HHI 4,000 4,000 0
OFX MBI WEAY(ZS0IE)
4,000,000 4,000
s 2,935
== 322
Al 743
FHOXY M0 WAL (M E0IS2) 641,000 0 641,000
s 479,000
s 49,000
Al 113,000
401 AIEHIZ SR OHYI 641,000 0 641,000
[ 479,000
= 49,000
Al 113,000
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Sl FHAXSA M02A WAL (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 637,000 0 637,000
OF AN A U0 HEAS (MEDIS)
637,000,000& 637,000
= 475,982
< 48,691
Al 112,327
03 AIE L8| 4,000 0 4,000
OF ORI MBHOI HNZAI(ABOIS)
4,000,000 4,000
[ 3,018
S 309
Al 673
SEH 15,114,665 9,725,456 5,389,209
[ 980,000
Al 14,134,665
SE0SHe 13,329,405 7,677,500 5,651,905
= 980,000
Al 12,349,405
SN FH2AA 1,500 477,500 A476,000
201 er23| 1,500 1,500 0
2 5234l 1,500 1,500 0
O=d3AS ict cotv HIIZ
125,000& * 122 1,500
ST MEHIHAAY 1,467,200 2,160,000 692,800
[ 980,000
Al 487,200
101 e124d| 67,200 60,000 7,200
M ORNZZ2NSE S 67,200 60,000 7,200
OANR=E & 40,800,000 40,800
OARE = 26,400,000 26,400
402 212t X+=01 & 928,860 0 928,860
= 650,202
Al 278,658
03 2IZ+LAETAIZHI 928,860 0 928,860
ORI SHASHANMNAFEE 23
106,000,000 106,000
[ 74,200
Al 31,800
Ot EHAZHANMNY SN ES
822,860,000 822,860
= 576,002
Al 246,858
403 AXIEHMSA=Z01d 471,140 1,386,000 914,860
[ 329,798




SA: AT
33 sENE
tel: sZE0E8He EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 141,342
02 SISOt =2 A 2 E A I 471,140 1,386,000 914,860
OllEAZHAAMS HW 471,140,000 471,140
[ 329,798
Al 141,342
S8 sZEU=S SN (HSAY) 518,704 800,000 N281,296
401 Al HIZL 201 478,704 800,000 A321,2%6
01 Al&H| 475,500 786,000 /310,500
O=8 sZl= S8
475,500,000& 475,500
03 AIZ2THYI 3,204 4,000 AT
O=2E8 sE03 =2|/AMY 3,204,000& 3,204
405 AtatE=H 40,000 40,000
01 TR =S FISHI 40,000 40,000
Oxg2 88 7¢ 40,000,000& 40,000
SEEY 200,000 300,000 100,000
403 X SHMSAH=01H 200,000 300,000 100,000
02 SISt =S A AEHI 200,000 300,000 100,000
Os&EsHds 2 sE422 2d3iE
=8 200,000,000& 200,000
2SS AQ OSSII(HEAY) 428,889 420,000 8,889
401 AIZHIX S0HH 428,889 420,000 8,889
01 AlZH| 426,000 418,000 8,000
OZes 9t D=
426,000,000& 426,000
03 Al 20HHI 2,889 2,000 889
OZ2E Atk DIEeSD| 2,888,900 2,889
ZAS FS OISUSIIAIG () (HEAIY) 428,889 428,889
401 Al HIZL 201 428,889 428,889
01 Al&HI 426,000 426,000
OZds 8 ==
426,000,000 426,000
03 AIZSTHYI 2,889 0 2,889
ozgs 3= ==l 2,888,900 2,889
2 29X OIS2USII(HEH) (HEATY) 428,889 0 428,889
401 AIEHIZ R HYI 428,889 428,889
01 Al&HI 426,000 426,000
Osd EX 03230 426,000,000 426,000
03 Al 2 CHHI 2,889 0 2,889
Osd gX == 2,888,900& 2,889
s2 45 IIS2SII(HEAY) 428,889 420,000 8,889
401 AIEHIX R0 428,889 420,000 8,889
01 A28l 426,000 418,000 8,000




SA: AT
mE: SE
ool sE0ESHe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsZ 45 O=t=)] 426,000,000 426,000
03 Al 2 0HYI 2,889 2,000 889
Osd oS == 2,888,900& 2,889
25 &g IISUSI(HE) (HEAY) 428,889 428,889
401 AlZHIZ SO 428,889 428,889
01 A28l 426,000 426,000
O=E g3 ==Y 426,000,000 426,000
03 A& CHYI 2,889 0 2,889
O=8 &2 ts2s)] 2,888,900 2,889
SE ofE 0IS2SI|(&EH (MEAY) 428,889 428,889
401 AIZHIZ S0 428,889 428,889
01 Al&H| 426,000 426,000
O=E ot t=2=)| 426,000,000 426,000
03 AIE R 0HHI 2,889 0 2,889
=E otd ==l 2,888,900 2,889
ZIAE ATAl OFSSHSII(MEH (M EALY) 428,889 0 428,889
401 AIEHIZ SR 0HYI 428,889 428,889
01 Al&HI 426,000 426,000
Odla MAl DtS2ST] 426,000,000 426,000
03 Al 20HHI 2,889 0 2,889
Odla Al Dt=2SD] 2,888,902 2,889
g 7S DISUSI(HEAY) 428,889 420,000 8,889
401 AIEHIX S0 428,889 420,000 8,889
01 AlZH| 426,000 418,000 8,000
Odd 7= ==Y 426,000,000 426,000
03 A& S CHYI 2,889 2,000 889
OXld s 0SS0 2,888,900 2,889
OHef Asty DISEEIN(HEAY) 428,889 420,000 8,889
401 Al HIZL 201 428,889 420,000 8,889
01 Al&H| 426,000 418,000 8,000
ot a3ty =S|
426,000,000& 426,000
03 AIZSTHYI 2,889 2,000 889
ot A5ty sl 2,888,900 2,889
DFZB;JN&%M%) 640,000 640,000 0
401 Al HIZL R 0HbI 640,000 640,000
01 Al&HI 640,000 640,000
OtrsetEdl JlEA= =8
80,000,000 +8I10t= 640,000
ZUg =Z0SUS)| SENLAIL(HE) 482,000 482,000
401 AIEHIL =20 482,000 482,000
01 Al&H| 480,000 480,000




rar=inl
SENL
SE0EHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZes 2HOISUSI| SEMLAIL(HE
) 480,000,000& 480,000
03 Al =2 0HHI 2,000 0 2,000
OAlI4 S THYI 2,000,000 2,000
& NYOISEI| SEMNLAL(HEAIY) 400,000 500,000 100,000
401 AIEHIZ SR OHYI 400,000 500,000 100,000
01 Al&HI 398,000 498,000 100,000
O&Y XYOtSS)| SENLA
398,000,000 398,000
03 Al 2CHYI 2,000 2,000 0
OAI4 2THbI 2,000,000& 2,000
CH OtA DFSEHSD| SENLAS (HEALY) 500,000 0 500,000
401 AIZHIX S0HH 500,000 0 500,000
01 AlZ2H| 498,000 0 498,000
OCtY otHEDISEHSI| SE ML AL (HEAL
&) 498,000,000& 498,000
03 Al 20HHI 2,000 0 2,000
OAIZ20HbI 2,000,000 2,000
SE IS2US)| SEHLAS (HEAIY) 200,000 200,000 0
401 AIEHIL =20 200,000 200,000
01 Al&H| 200,000 200,000
SE 0S2S)| SSHLAMY JI=2AHE (2
) 100,000,000 *29H 2 200,000
SAX T HALS ZEAS (HEALY) 5,010,000 0 5,010,000
401 AlZHIZ SO 5,010,000 0 5,010,000
01 AlZ8| 5,000,000 0 5,000,000
OFX+ MAS ZEAMS(HEAIY)
5,000,000,000& 5,000,000
03 A2 CHYI 10,000 0 10,000
OF X+ MANS ZLAMS(HEALL)
10,000,000 10,000
LS MOIENLAIE AMIE2S 25 & FH| 50,000 0 50,000
401 AIZHIX S0HH 50,000 0 50,000
01 AlZ2H| 50,000 0 50,000
OAlgd= 2= & FH| 14
50,000,000 50,000
AR MEDIEIAIE FHIMY(FRI=JAAY) 1,785,260 2,047,956 A262,69
A2 MEIIBAIE FHIAIY 1,449,500 1,314,500 135,000
401 Al HIZL S 0HYI 1,449,500 1,314,500 135,000
01 Al&HI 1,448,000 1,311,000 137,000
OZgs 2s0= 22 FHISA
50,000,000& 50,000
OZgs Mdlls 22 0tAZ TR S
t 48,000,002 48,000
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SA AL
mE: SEf
CHol: ATD MEDIPAIE HHIAY (ERSBAY) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olbtser2 S84l & & HEE SA
3,640,000 +250H 2 91,000
OUSAUZHY & =T WEY SA
3,900,000 +250H 2~ 97,500
ObtS7H EHl SAt
3,900,000 *250H 2~ 97,500
OCSti+=2 HHISAt
3,900, 0002 *200H 2 78,000
OJIEIOE E©21 A2 AlE HESA
3,440,000 +250H 2~ 86,000
03 Al 20HHI 1,500 3,500 22,000
OAIZ20HHI 1,500,000 1,500
a2 WEI|EAIE X2k 302,160 283,456 18,704
401 AlZHIZL SO 302,160 283,456 18,704
01 Al&H| 300,000 281,440 18,560
Olbtserz & g2 AuEs
4,000,000 *25J 2 100,000
O7H & =2 2UtE+
4,000,000 *25H 2~ 100,000
OJIEH MEDIBAIL ATH S
4,000,000 *257H 2= 100,000
03 A2 THYI 2,160 2,016 144
OAIE20HbI 300,000, 0002 *0.72% 2,160
A0 X HNACZ HHIALY 33,600 33,600
201 er2 3| 33,600 33,600
02 S3=gHl 33,600 33,600
OEAHATZ Y HA & 2
33,600,000& 33,600
sIh &5 ot 6,361,600 9,626,500 A3,264,900
= 150,000
< 609,750
Al 5,601,850
SEIIBAIE ALY 6,361,600 9,626,500 A3,264,900
= 150,000
== 609,750
Al 5,601,850
HWEM sHEHOISAZL A 980,000 980,000
201 2= 390,000 390,000
2 S5=2g4l 390,000 390,000
OHZAXNSASHIMNER
390,000,000 390,000
401 AIEHIZ SO 590,000 590,000
01 Al&H| 590,000 590,000
ONEUSHI X0
400,000,000 400,000




SA AL
M 5)} AS ol
Rl SSIIBAIE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2B AN ALY
190,000,000 190,000
SEMBEHAHIAIY (HEAIY) 1,000,000 1,000,000
401 AIEHIX R0 1,000,000 1,000,000
01 A28l 995,000 995,000
02023 =8H sEHLESIFHIALY
995,000,000 995,000
03 AlE220HHI 5,000 5,000 0
OAIZ20HbI 5,000,000 5,000
S+ PISSAIE (HEALY) 125,000 125,000 0
= 100,000
Al 25,000
401 A& HIX R0 125,000 125,000 0
= 100,000
Al 25,000
01 A28l 124,500 124,500 0
OF+=2 XM 124,500,000& 124,500
== 99,600
Al 24,900
03 Al 20HHI 500 500 0
OAIE20HHI 500,000 500
= 400
Al 100
a2 SEIIBAIE FHIAIE 1,812,000 1,639,500 172,500
401 AIZHIX S0HH 1,812,000 1,639,500 172,500
01 A28l 1,810,000 1,636,000 174,000
Ox & =2 =2 EXISAt
100,000,000& 100,000
OxyH &S NFA HBISA
100,000,000 100,000
OZgs &2il= =2 ZHISA
50,000,000& 50,000
OZds Msits s dHISA
70,000,000& 70,000
OZ2s 250l &2 ZHISA
55,000,000 55,000
OZgds 2502 == JUISA
45,000,000& 45,000
OsS2dd 0= Sti+== JUISA
50,000,000 50,000
O=ZY% FA0= MEw ZJHISA
60,000,000 60,000
OsZH G&lls S+2 JUISA
40,000,000 40,000
OSEX YHIIS 52 HEFTA
40,000,000 40,000




SA AL
B =} AS o4
Rl SSIIBAIE A
S A - BRI - HRA - BES of e A
0280 22012 =2 a2
30,000,000& 30,000
OSEM 232012 52 FJHIBA
30,000,000& 30,000
O=E8H &=20t= =2 ZHISA
30,000,000 30,000
O==4 Uellls de=2 LISA
30,000,000& 30,000
OS T ZY0IS B2 JHISA
30,000,000 30,000
OS2 (=2 =2 TR
30,000,000 30,000
O=s=d HYlls H= s=HESAM
30,000,000& 30,000
OS=H HH0E MA0lZ sZIHESA
30,000,000& 30,000
OS2 OIS 7 FHIBA
50,000,000 50,000
O=: Wotl2 AW AX| ZAl
80,000,000& 80,000
O==2e A30I2 AEBA
30,000,000& 30,000
Otlad =80ls 52 ZHESAM
15,000,000 15,000
Odad MElls 52 ZHSA
40,000,000& 40,000
O&latH OXI0te sZZEESA
30,000,000& 30,000
OXgd &M, &Il 52 ZE3A
35,000,000 35,000
OdEd SUlls 52 23
40,000,000& 40,000
OXEH AEIIE =2 ZESA
30,000,000& 30,000
Odgd IR0l 52 SLISA
50,000,000 50,000
otgd 282 FHIsSAHES, =3)
30,000,000& 30,000
OUH DAel 52 EUIZA
35,000,000& 35,000
ot sS0t= =2 & ord:H2E J4|
SAt 30,000,000 30,000
ottgd 2z, otdlls s= MEESA
35,000,000& 35,000
O=%s &S E2 SHSA
30,000,000& 30,000
OsZHE M 120,000,000 120,000
OsdAl =2 ZHISA
120,000,000 120,000




SA AL
B =)} AS O4F
Rl SSIIBAIE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsZEEZAM 80,000,000 80,000
O8=2 EXSAt 80,000,000& 80,000
03 AIESTHYI 2,000 3,500 21,500
OAl4 S THHI 2,000,000& 2,000
SEIIPAE 72l 514,000 514,000 0
201 =3 21,000 21,000
01 AtR2t2lt] 8,000 8,000
OSABN5HE 2B 248
4,000,000 4,000
O==oll, ot 2 ZHI&Xt=
4,000,000 4,000
02 S3=gHl 13,000 13,000 0
oIl 25U 1,800,000& 1,800
O&=J| =4 1,200,000& 1,200
OFgE HIIes 10,000,000 10,000
401 Al HIZ S 0HbI 493,000 493,000
01 Al&H| 490,000 490,000
oz - &=J| KA 20,000
—23 2=2)| FX2el]
10,000,000& 10,000
—2d HZ XMell 10,000,000 10,000
Os=ZAIE A2l 160,000
—SZAE 2LES 160,000,000 160,000
OF g - SBti+=2 =A2el 160,000
—F g B2 2ULE>
160,000,000 160,000
OXM==Xl - &M |X2el 150,000
— M=K, Y=M =AE2
150,000,000 150,000
03 Al 20HHI 3,000 3,000 0
OAIZ 20HHI 3,000,000& 3,000
23 Kot A L AM=22EA 200,000 100,000 100,000
403 AXIEHHSAH=0l 200,000 100,000 100,000
02 SIS0t =S A A 200,000 100,000 100,000
Olgad Kot LA & AIR22S
S 200,000,000& 200,000
218t S+IHE A 200,000 100,000 100,000
401 AIEHIX R0 200,000 100,000 100,000
01 A28l 200,000 100,000 100,000
OJtsUEl & JIgt EIHE A
200,000,000 200,000
A22te]l M==X| ete &It 75,600 0 75,600
< 30,000
Al 45,600




2A:

X XH -
o=

chl: o) (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 75,600 0 75,600
= 30,000
Al 45,600
01 Al&H| 75,000 0 75,000
OMSH4X HYUoHMZICH
25,000,000 *14] 25,000
=S 10,000
Al 15,000
OUSHAX HYUEzCH
25,000,000 * 14| 25,000
S 10,000
Al 15,000
OMEHAT HUHMZEICH
25,000,000 *14] 25,000
=S 10,000
Al 15,000
03 A& S CHYI 600 0 600
OAIZ 20HHI 600,000%14] 600
SEXT 28 HUIAS (HEALY) 477,500 900,000 2422500
= 429,750
Al 47,750
401 AIEHIX SO 477,500 900,000 A422,500
= 429,750
Al 47,750
01 AlZ2H| 476,000 895,000 419,000
SEXF &8 HHIAHY
476,000,000& 476,000
== 428,400
Al 47,600
03 A2 CHYI 1,500 5,000 A3,500
OAIE20HbI 1,500,000& 1,500
= 1,350
Al 150
SSUAD|BAIE FHIALY 515,000 300,000 215,000
403 AXIEHMSA=Z0l1d 515,000 300,000 215,000
02 SII12ASOITH St =2 X A E A I 515,000 300,000 215,000
OSYHLDIBAIE FH| CH At I
515,000,000 515,000
SSA 7 Hi==IHE AL 150,000 0 150,000
= 150,000
401 Al HIZ S OHbI 150,000 0 150,000
= 150,000
01 Al&HI 150,000 0 150,000
O&SXIH==IH & At 150,000,000 150,000




SA AL
B =)} AS O4F
Rl SSIIBAIE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 150,000
2R T XNE SLHDAS (HEALY) 250,000 250,000
401 AIEHIZ SR OHYI 250,000 250,000
01 Al&HI 249,000 249,000
OFLXP XNES SANL A
249,000,000 249,000
03 Al 2CHYI 1,000 1,000
OAIE20HbI 1,000,000& 1,000
SAKIR A2 B SAL 62,500 62,500
= 50,000
Al 12,500
401 AlZHIZ SO 62,500 62,500
== 50,000
Al 12,500
01 Al&HI 62,500 62,500
OZAKI T A2 ==IH & AL
62,500,000 62,500
= 50,000
Al 12,500




